INTERMEDIATE EXAMINATION-2025
SeXHIlSUC ORIETT—2025

( ANNUAL/ATS® )

COMPUTER SCIENCE ( Theory )

HYex fagm (deifas )
ILA.,I.Sc., & I.Com.

Pl TT: 70+20+6 = 96 fqwr ®re : 122/221/328
Total Questions : 70+20+6 = 96 Subject Code: 122/221/328
(997 : 3 °¢ 15 e ) ( gquriep: 70 )
[ Time : 3 Hours 15 Minutes | [ Full Marks: 70 |

Instructions for the candidates:

l.

gVErelf OMR STv—Yad UY 397 97 Jleadr #HH1d (10 3wl &]) S99 [fordd |

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

gherreff goreya g veq) d & GV 7/

Candidates are required to give their answers in their own words as far as
practicable.

qIfe siiv 81 9v 1?9 §V 3% quiies fAlde wvd &/
Figures in the right hand margin indicate full marks.

o=l &l T E UeT & 11y Gl @i 15 AT @1 SIaND THI Q9T 7T
g/

15 minutes of extra time has been allotted for the candidates to read the questions
carefully.

. JE 7o gltaar §f @vsl § § — @Ue—3 3V GUe—§
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This Question booklet divided into two sections SECTION-A and SECTION-B

6. GUS—3 4 70 JVGITT FIT & ford & 6] 35 FIH & G€ a7 Sard &/
35 F¥] ¥ 3IfF FT FAY &7 GV FIT 35 T T & FoAIHT &I HAF T
P o717 1 3% [FE7IRT &1 S7HT GV @ P [o77 SYciel Hvrel 77 OMR STv—u3%
7 Ry 7v wel Akey & Hot/ Fict FicT 97 W FUIG HY/ [de o gHw P
FIZCTV /TYeT Garel /&S, g7 3fa OMR STv—gad § HIIT &Yl T &,
ST GHET TRITT 3ETT ST/

In SECTION-A, there are 70 objective type questions, out of which any 35
questions are to be answered. If more than 35 questions are answered, then only
first 35 questions will be evaluated. Each question carries one mark. For
answering these darken the circle with blue/black ball pen against the correct
option on the OMR Answer Sheet provided to you. Do not use
whitener/liquid/blade/nail etc. on OMR Answer sheet /otherwise the result will

be treated invalid.

1. @US—§ H 20 TG FANT FI7 &/ [or7H 7 GAF H 2 i [T & forTd &
vt ot 10 791 BT GIV &7 377G & | §7P SIANFT §9 TGS H 6 e FaeiT
goT 8% 7 & for7d W sl 3 FI T GV & 8/ FAE FIT P o7 5 3P
fAeriRea &/

In SECTION-B, there are 20 sheet answer type questions, each carrying 2 marks,
out of which any 10 questions are to be answered. Apart from this, there are 6
Long Answer type questions, each carrying 5 marks, out of which any 3 questions
are to be Answered.

8. [&W! BN & FATCIEH FYBYI BT FIIT Ul afoia &/

Use of any electronic appliances is strictly prohibited.
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Yug — 31/ SECTION-A
JEIS U% / Objective Type Questions

FoT G&gT 1 @ 70 dF & F5 P @ TV [Qeey &9 73 & o778 & v wel 8/
[&578T 35 7o & & TV Y7 §IT g+ TV Wl [ddey & OMR ¥ ov fF=d
HY/ 35x1 =35

Questions Nos. 1 to 70 have four options, out of which only one is correct. Answer
any 35 questions. You have to mark your selected option on the OMR-sheet.

35x1=35
1. fr=ifeiRaa § 4 &9 91 C++ ¥ A9 $las 81 & |
(A) While (B) For
(C) While (D) Do-while
Which of the following is not a valid Keyword in C++.
(A) While (B) For
(C) While (D) Do-while

2. C++ ¥ Topa ufth fewforal & forv f=forRad & 9 fhaer Sy fear

ST 2§ |
Ay B) _
(C)  /x «/ (D) ##

Which of the following is used for single line comments in C++.
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A) 7 B) _
< /& F (D) ##

. FrfaRad # | {59 w197 3rgaresd &1 SUANT C++ H fam Irem 2 |
(A) Assembler (B) Interpreter

(C) Compiler (D) Both Interpreter and compiler
Which of the following language translator is used in C++.

(A) Assembler (B) Interpreter

(C)  Compiler (D)  Both Interpreter and compiler

. SQL ¥, B9 91 iTaRex Y e xar 87

(A) Between (B) Like

(C) Exists (D) 79 9 PIs T8l
Which Operator perform pattern matching in SQL?

(A) Between (B) Like

(C) Exists (D) None of these

. SQL ¥, fF=faRaa § 9 &9 A1 Ser aRYeT dHre 87

(A) Rename (B) Revoke

(C) Grant (D) Update

In SQL, which of the following is a data definition language commands?
(A) Rename (B) Revoke

(C) Grant (D) Update
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6. ST ¥ ST 8eM & fov b SQL U= &1 ST fhar Sirar 87
(A) Collapse (B) Remove
(C) Alter (D) Delete
Which SQL Statement is used to delete data from a database?
(A) Collapse (B) Remove
(C) Alter (D) Delete

7. A* B+ C/D &1 IUGT w7 27
(A) =*AB/CD+ (B) AB+CD/+
(C) A*BC+/D (D) ABCD+/*
The postfix form of A * B + C/D is?

(A) =*AB/CD+ (B) AB+CD/+
(C) A*BC+/D (D) ABCD+/*

8. THAMhaT AAICYE BT URCfhad AIRIH H gaad & folv b ST TwdaR &Y

MMITIHAT B2
(A) Branch (B) Stack
(C) Array (D) List

Which data structure is needed to convert infix notation to Postfix notation?
(A) Branch (B) Stack
(C) Array (D) List

9. R&HAT Bl AN T3 & g fhd ST ARAAT &7 IWART o ST 27
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(A)  Queue (B) Stack
(C)  Array (D) List

Which data structure is used for implementing recursion?
(A)  Queue (B) Stack

(C) Array (D) List

10.A1f%d AND HeTed &I Ugam |
A) (B) &&
© ! D) <>
Identifying the Logical AND Operator.
(A) (B) &&
© ! D) <>
11.C++ ¥ int STICTZY BT AR TgaT |
(A) 1 byte (B) 2 byte
(C) 4byte (D) Depends on compiler
Identify the size of int datatype in C++.
(A) 1byte (B) 2 byte
(C) 4byte (D) Depends on compiler
12. C++ ¥ FfeAl & | TR |
(A) 1 (B) 2
<€ 3 (D) 4
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Total types of error in C++.
A) 1 B) 2

<© 3 (D) 4

13. C++ fhdH UBR & IgHUATSH HI FHAT HIAT 27
A 1 (B) 2
<© 3 (D) 4
How many types of polymorphism are supported by C++?
(A) 1 (B) 2
<€ 3 D) 4
14. 9 AT AT w9 3NF & |AH 57
(A) INF (B) 2NF
(C) BCNF (D) 4NF
Which normal form is similar with 3NF?
(A) INF (B) 2NF
(C) BCNF (D) 4NF
Freferiag ¥ 1 B TR ReT & oy @R T 8
(A) Front-door threats (B) Back-door threats
(C) Underground threats (D) Denial of service (DNS)
Which of the following threats is not the external security threats.

(A) Front-door threats (B) Back-door threats

Page 7 of 28



16.

(C) Underground threats (D) Denial of service (DNS)

fa=feIRad & & @I9 a1 Wieiaid gigue ok § gRwifivg 8 /87

(A) FTP (B) TCP

(C) UDP (D) (B) & ()
Which of the following protocol is/are defined in Transport layer?
(A) FTP (B) TCP

(C) UDP (D) B)&(©)

17.00P &g W= a7

(A) Program & Process (B) Function & Data
(C) File and Disk (D) Input and Output
OOP is based on?

(A) Program & Process (B) Function & Data
(C) File and Disk (D) Input and Output

18.f=ferRaa § & &I 31w 87

(A) int *ip; (B) string s, *sp=0;
(C) int 1; double *dp=&1 (D) int *pi=0;
Which of the following is illegal?

(A) int *ip; (B) string s, *sp=0;

(C) int 1; double *dp=&1 (D) int *pi=0;

19.90eT WIS BT U dheild ©_
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(A) Hashing (B) Tree Search

(C) Binary Search (D) Linear Search

A technique for direct Search is

(A) Hashing (B) Tree Search

(C) Binary Search (D) Linear Search
20. www.rediffmail.com @I 87

(A) TP BIgel (B) TS dedd

(C) TP et (D) TF § Hel AT

What is www.rediffmail.com?

(A) Afile (B) A network

(C) A topology (D) An Email Service
21.fr=fRad % & @9 A C++ H A THR B 77

(A) Int (B) Float

(C) Array (D) Char

Which of the following is not a basic type in C++?

(A) Int (B) Float

(C) Array (D) Char
22.3[IReR % T fbd =19 I ST STl 87

(A)  Division 3fqRex (B)  Modulas 3ifoRex

(C)  Percentage 3ifuRex (D) T8 9 BIg Al

Page 9 of 28



What is Operator % known as?
(A) Division Operator (B) Modulus Operator

(C) Percentage Operator (D) None of these

23.fr=faRaa & 9 B9 a1 9 ATSSCHRR 87

(A) abc2 (B) ab%c

(C) “abc (D) ~abc
Which of the following is correct identifier?

(A) abc2 (B) ab%c

(C) nabc (D) ~abc
2419 AT U& $ACIC! 81 87

(A) student (B) teacher

(C) fee (D) hobby

Which one is not an entity?

(A) student (B) teacher

(C) fee (D) hobby
25. ARG § & DI Uh e ST R 87

(A) awefT (B) wara &

(C) oI (D) XG@TH

Which of the following is a linear data structure?
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(A) Array (B) AVL Tree
(C) Binary Tree (D) Graphs
26.C++ H B BT FEl [Shice Red A I |
(A) int (B) void
(C) char (D) float
Choose the correct default return value in C++.
(A) int (B) void
(C) char (D) float
27. C++¥H I U Bl UBR Yo Gl HH F HH (P IR Awrfad s & TRl
<l &7
(A) forloop (B) do-while
(C) while (D) none
Choose the type of loop which guaranteed to execute at least once?
(A) forloop (B) do-while

(C) while (D) none

28. C++ H, fhll T & ST IS IR IS BaeH fShice ®©U W o 8
2 | 81 IT eI
(A) (B) s

(C) &e W MR F=ar g (D) PIS &I
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In C++, data members and member function of the class are private by default.
True or false?
(A) True (B) False

(C) Depends on code (D) None

29.C + + ¥, 78 o8 & oIy UYh HEl UDU 3ThA Bl Ugdr D |
(A) \t (B) n
(C©) \a (D) @18 T
In C++, Identify the correct escape sequence used for the new line.
(A) \t (B) \n
©) \a (D) None

30. C++ ¥ M—s=hifc 3fTReN & foIu Ig SSTev0T ygam |

(A) +tn; (B) nt+;
©) -nm (D) +n;

Identify the correct example for a per-increment operator in C++.

(A) +in; (B) nt+;
© - (D) +n;
3195 | URIRYA &1 SAfeerdm 2 |
(A) O(n) (B) O(logn)
(©) O(np) (D)  O(nlogn)

The complexity of Binary Search algorithm is.
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(A)  Om) (B)  O(logn)
(©) O(ny) (D) O(nlogn)

32,9 H YD O Bl HANT PR S Fareld DI fbd T/ F ST ST & |

(A) Traversal (B) Inserting
(C) Merging (D) Sort

The operator of processing each element in the list is known as.
(A) Traversal (B) Inserting
(C) Merging (D) Sort

33. 95 €1 BT URE 3ifex ¢adidd DEBFCA 8 | I—3ifex dadd for= & & &

a1 BT ?
(A) ABFCDE (B) ABDFEC
(C) ABDECF (D) ABDCEF

The Post order traversal of a binary tree is DEBFCA. Which of the following
pre-order traversal?

(A) ABFCDE (B) ABDFEC

(C) ABDECF (D) ABDCEF

34, Y 3 WY &1 w7 7 B?

(A) I 3fffha Werdial (B) <IHER UICidhld
(C) URE & Wbl (D) rg el
What does POP Stand for?
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(A) Pre office protocol (B) Post office protocol
(C) Protocol of post (D) None

35. 30 U9 31T dieol ¥ URdl &) A=m fha-r 87

(A) 2 &d (B) 4 Wd
©) 7w (D) 9 wa

What is the number of layers in the OSI model?

(A) 2 layers (B) 4 layers
(C) 7layers (D) 9 layer

36. 89 AT &7
(A) HTeamR (B) @Y feargw
(C) eaw farw (D) T SR
What is Hub?
(A) Software (B) Computing device
(C) Network device (D) Calculating device

37. STT S8 R & oIy Jr& wU § IUINT by ST dTel Wieididd &1 yg=m
N |
(A) TH AU (B) <A
€ dvwmad (D) wWaq G
Identify the protocol primarily used for browsing data.

(A) FTP (B) TCP
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(C) TFTP (D) HTTP
38. gevIe W bl FaeH &1 UM fhae gRT A1 Srar 27?

(A) =va (B) s @
(C) Wbl (D) IR U
What is the location of a resource on the internet is given by?
(A) Email (B) 1P
(C) Protocol (D) URL

39. 9 U HAcdd Pl YgA BN Sl TCP/IPWICIDIS] TR TR o |

(A) ARPANET (B) HUB

(C) Ethernet card (D) Router
Identify the first network which was based on TCP/IP protocol.
(A) ARPANET (B) HUB

(C) Ethernet card (D) Router

40. FHGR RTal B 9o & oy Ugaa IUSRIT &I GgaT N |

(A) dIeH (B) Rdrer

(C) Rea= (D) ¥R

Identify the device used to boost up a weak signal.

(A) Modem (B) Repeater

(C) Switch (D) Router
41. f=fRad d A P19 A1 DBMS &I T HTH 87
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(A) eI (B) <eT oo
(C) ST FToR (D) SRI® a4l
Which of the following is a component of the DBMS?
(A) Data (B) Data language
(C) Data manager (D) All of the above
42. Bics M o= &1 WE Uy @ 87?
(A) First name (B) First name
(C) Fname (D) All of these
What is the correct format for writing field names?
(A) First name (B) First name
(C) Fname (D) All of these
43, f=faRaa § 9 19 AT SQL &7 Tcdh -8l 27
(A) DDL (B) TCL
(C) ADL (D) DML
Which of the following is not a component of SQL?
(A) DDL (B) TCL
(C©) ADL (D) DML
44, SQL H 93 291 999 & foTv fh dias &1 SUAnT fahar Sirar &7
(A) Create (B) Add

(C) Insert (D) Alter
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Which keyword is used to create a new table in SQL?
(A) Create (B) Add
(C) Insert (D) Alter

45.SQL H TU®H 2dd H ST Bl AUST IR & oIV b pHS &1 SUANT fhan

SITaT 87
(A) Add (B) Update
(C) Modify (D) Replace

Which command is used to update a data in a table?
(A) Add (B) Update

(C) Modify (D) Replace

46. TIHAT HT T TN &7
(A)  goraT (B) wm=T
(€©) [ (D) ¥ 9 3 Tel
What does a decimal number represents?
(A)  Quality (B)  Quantity

(C) Position (D) None of these

47. 58, 3 fdc A AT @1 iidcd AT IT &7
(A) 0102 (B) 1102
(€) 0002 (D) 1012
What is the octal equivalent of 58, 3bit binary number?
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(A) 0102

(C) 0002

(B)
(D)

1102

1012

48. for=forlRaa § & &1 C+H+ H U 5@ 3ifuRey 27

Aa) <<

© -

(B)
(D)

>>

<<<Z

Which of the following is an insertion operator in C++?

(A) <<
(O
49. gforas M & IR A+1="7?
(A) 1
(C) 0
According to Boolean law: A+1=?
A) 1
C) 0
50. A(A + B) =?
(A) AB

(C) (1+AB)
A(A+B) =7

(A) AB

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)

>>

<L
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(C©) 1+ 4B (D) A

51. F=IfeRae & | B C++ H W DI F&I T ¥ =Ifvd HRal 27
(A) array{10}; (B) array array[10];
(C) int array; (D) int array[10];
Which of the following correctly declares an array in C++?
(A) array{10}; (B) array array[10];
(C) int array; (D) int array[10];

52. C++ ¥ BRI HYU Bl THT HR & oy fFeferRad & 9 et SuamT

fopar SIraT 27
A) B) 1]
< ) (D)

Which of the following is used to terminate the function declaration in C++?

A) B) ]

© ) (D)

53. C++ H HorER el @ |iftd a)a & forg foiad § | fea udie
HT AN B Srar 22

(A) § ® ~

© # (D) *

Which of the following symbol is used to declare the preprocessor directives

in C++?
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(A) 3 B 7

<€ # (D) *

54. DI A ST ARG dRE 39 B 3MMST (LIFO) RIGIa &7 ureld Hehl =7
(A)  Queue (B) Stack
(C) Linked list (D) Tree
Which data structure follows the Last in first out (LIFO) principle?
(A) Queue (B) Stack
(C) Linked list (D) Tree

55.91ce W & oIy 9 A1 Wiel USNIREH RIAd] H BHIH Rl &7

(A) Linear search (B) Binary search

(C) Depth First search (D) Breath First search
Which search algorithm works efficiently for sorted arrays?

(A) Linear search (B) Binary search

(C) Depth First search (D) Breath First search

56. ¥ Bl fbd A9 A SHET1 o dr 82

(A) TRE 39 BT AT (B) W 9 B 3T
(C) 3l A3IRB (D) ST ¥ P 8l
Stack is referred as:

(A) Lastin First out (B) First in First out

(C) BothAandB (D) None of these
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57. STHE ¥, dIferdT H ude Reprs & oy JAfgdia ggamiadl ol a1 B8l Sl
87
(A)  wefHe FHon (B) fg<das ol
© faeh gof (D) FEDD FoA
In a database, what is unique identifier for each record in a table is called?
(A) Primary key (B) Secondary key
(C) Foreign key (D) Index key

58. SQL H U IT 3N HM ® GUBId &+ & oIy b ST UBR BT STINT

fBar ST 87?
(A) Int (B) Boolean
(C) Varchar (D) Float

Which data type 1s used in SQL to store true or false values?
(A) Int (B) Boolean
(C) Varchar (D) Float

59. SQL H DROP HHIS TIT HRCT &7

(A) dIferdT § e A Uftp Siredm & (B) HiS[gT Tferadl &l g @
(C) drferrT HeNfErd BT & (D) % =13 diferdT 41T &

What does DROP command do in SQL?

(A) Adds anew row to a table (B) Delete an existing table
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(C) Modifies a table (D) Creates a new table

60. f& arferar & 71 Rafs Sred @ v o SQL His &1 STaRT fdhar

SISIE-I
(A) Select (B) Delete
(C) Update (D) insert

Which SQL command is used to add a new record to a table?
(A) Select (B) Delete
(C) Update (D) insert

61. 3T9 9 B9 difore e ¥ AT 781 87

(A) AND (B) OR

(C©) IF( (D) NOR

Which of the following is not associated with Logic gate?

(A) AND (B) OR

(C) IF( (D) NOR
62. BRI SHHA RIRTH BT MER T 87

(A) 10 (B) 14

) o (D) 16

Base of hexa-decimal number system is?

(A) 10 (B) 14

©) 6 (D) 16
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63. T ¥ DI B HRYEX ACTH D IUDHRIT 2°
(A) SMTP (B) Hub
(C) FTP (D) Topology

Which of the following is a device of computer network?

(A) SMTP (B) Hub
(C) FTP (D) Topology
64. FAIC FIT &7
(A) ST UbR (B) WaeH
(C) SRR (D) T A P T

What is float?

(A) Data type (B) Function

(C) Operator (D) None of these
65. C++ ¥ iostream.h @1 8?

(A) STeT Brgd (B) TR HIgd

(C) fefax (D) W i

In C++, 10stream.h is a/an

(A) Data file (B) Header file

(C) Linker (D) Program block

66. DI AT G WU 3NF & FAH 27
(A) 1NF (B) 2NF
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(C) BCNF (D) 4NF
Which normal form is similar with 3 NF?

(A) INF (B) 2NF

(C) BCNF (D) 4NF

67. B A IR AlhAHAS 1T B7?

(A) =W (B) ¥ FY el
(C) i (D) ¥+t
Which one is none procedural language?

Ay C (B) SQL

(C) Java (D) C++

68. Queue ¥ FU AIS BBl I SIS Il &7
(A) 39 AT e (B) U 9
(€ w=a (D) 3mSR e I |
From where are new nodes added to the Queue?
(A) Now onwards (B) From behind
(C) From the middle (D) From both front and back

69. IR fore & PIg ATS Tele O S HT Hed o7

(A) null fere (B) empty fere

(C) zero fore (D) T ¥ @13 T2
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If there is no item in the list then is called?

(A) null List (B) empty list

(C) zero list (D) None of these
70.79 3 + 4/ * SWIad URSHaT BT Jedidh 2 |

(A) 10 (B) 49

< 9 (D) 21

7 9 3 + 4/ = the evaluation of the above postfix expression is.

(A) 10 (B) 49

C) 9 (D) 21

Tv€ -3 / SECTION-B

g Swig a3/ Short Answer Type Questions

o7 W& 1 W 20 d% oY Savig & | §74 @ 18] 10 F¥ & GX & HAD

57 & [orv 2 3% [FEIRT 8/ 10 x 2 = 20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
question carries 2 marks. 10 x 2 =20
1. 915 URAT Acd® BT URHINT N | 2
Define wide area network.
2. SUAYE BT uRINT o | 2
Define DML.
3. gferad IRTaa iR Yford dlac<T & ARAT o | 2
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Explain Boolean variable and Boolean Constant.

4. INFIX ®UIARY FHSY | 2

Explain INFIX Conversion.

5. A H ST BRI DT ARAT N | 2
Explain data types in C++.

6. ST FT 2? 2
What is Database?

7. A+ | Rwforlt @ 87 2
What are comments in C++?

8. gfora 3fRex &1 |Hssy | 2
Explain Boolean operator.

9. U < T 57 2
What is a table?

10. d¥9F HeT & % | 2

What is voice mail?

11. ISt e /a1 €7 2
What is Logic gate?

12.S27 BIgdd HIT &7 2
What is data file?

13.fdiR @ 8? 2
What is linker?

14.§—3TR—37 6T &7 2
What is E-R-diagram?

15.751 =R @I 5? 2
What is private variable?

16. 39 ST BT guid HN? 2
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Describe search engine?

17. 3<% BIgel T 87 2
What is header file?

18. SeT TAmHIferd ar 87 2
What is Data Anomalies?

19. THeiT Bl aRATRT P | 2
Define template.

20. SIS B BT TRITNT PN | 2

Define Inline function.

<" SR 999 / Long Answer Type Questions
T G 21 W 26 T8 FGT &/ [F78] diT 7o & G 3/ HAT P [T
5 & [TERIRT &/ 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any three questions.

Each question carries 5 marks. 3x5=15

21 CTgH TR Bl QI IaTERVI A FHSS | 5
Explain run time error with two examples.

22,31 AT WO BT gRAMT R IR CH+ WU &7 ST N 59D

Hrafaa fawn | 5
Define two dimensional array show its implementation using a C++ program.

23. f¥l ¥t @1 AT o B’ & forg C++ H U 9 ford | 5
Write a program in C++ to calculate the volume of a square.

2431 §1 U9 UH 3R 3R & I TH TH S RIT AR 27 5
What are the difference between a DBMS and RDBMS?

2531 41 UH U9 H Higjg A= 9vTell a7 Seeld @ | 5
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Mention the different language present in DBMS.
26.9%7 3R UMY ATIRTE & A1T Yeb ERUIT BT STANT B b Dl AN B b

foTU U c++ UmH ford | 5

Write a C++ program to implement a stack using an array with Push and Pop

Operations.
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